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Primary 4 Weekly Plan

23-27 March
Topics for Tuesday Wednesday Thursday @ Friday
this week
Mathematics To practice Activity: Activity: Activity: Activity: Activity:
estimating Solve and Solve and Solve and Approximate Calculate the area of
whole estimate to estimate to estimate to the each number | a playground (which
numbers, the nearest the nearest nearest 100: to the is 92 m by 62 m) to
estimating to | 100: 1000: nearest the nearest 10 m.
the nearest 321x14 = whole
100, and 63 +23 = 26.182 = 10x9= number, and Estimate 67.127 to:
estimatingto | 48 +21 = 1000.98 = 11x10 = one decimal: 1. the nearest whole
the nearest 13+64 = 8901.001 = 100x 3.5 = number =
1000. 67 -32= 940 = 20x6= 67.83 = 2. one decimal place
83+19= 1101 = 38.81 = =
72.34 = 3. the nearest 10
19.11 = 4. the nearest 100
12.34 =
English To practice Activity: Activity: Activity: Vocabulary: | Activity:
Studies 1 & 2 | identifying Write two Write two Free Write a poster, Write two
the parts of paragraphs paragraphs paragraph for interpret, paragraphs using
a written about last about next each of the advise, adverbial phrases for
paragraph, week. week. prompts below: | advertise, time related to ‘next
as well as Underline Underline the | 1. Write abouta | aware week.’
write the topic conclusions. time you had to
paragraphs. sentences. compromise. Activity:
What did you Write 2
do? What was sentences
the result? with each
2. Write a vocabulary
creative story word.
about 2
characters who
have to
cooperate.
3. Write a letter
to one of the
characters in
your story.
Basic To compare | Vocabulary: | Activity: Activity: Vocabulary: | Activity:
Science & healthy calories, List 5 List 5 different dysentery, Answer the following
Technology eating habits | food group, different foods that are malnutrition, questions in
and bad balanced foods that are | part of an marasmus, complete sentences.
eating habits | diet, daily part of a unbalanced diet | kwashiorkor 1. Your friend eats
serving balanced diet | and explain Activity: food she found on
Activity: and explain why. Define and the ground. What
Define and why. write a can happen to her?
write a sentence 2. Richard eats
sentence with each rotten fruit. What can
with each vocabulary happen to him?
vocabulary word. 3. What does it
word. mean to eat a
balanced diet?
Reading African African African African African Storybook
Assignment Storybook Storybook Storybook Storybook Akoro’s Banana
A Fishand A | Abike’s Day Advice From an | Africa Unity Business
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http://africanstorybook.org/reader.php?id=8831&d=0&a=1
http://africanstorybook.org/reader.php?id=21453&d=0&a=1
http://africanstorybook.org/reader.php?id=22034&d=0&a=1
http://africanstorybook.org/reader.php?id=19876&d=0&a=1
http://africanstorybook.org/reader.php?id=14171&d=0&a=1
http://africanstorybook.org/reader.php?id=14171&d=0&a=1

Homework
assignment

Homework
answer keys

Gift Old Man Race
#38 #39 #40 #41 #42
English Verbal Verbal English English
1.sun 6. sun | Reasoning Reasoning 1. Jeremiah 1. Any reasonable
2.son7.son | 1.B5.D 1.D4. A was a bully in | creative story about
3.sun8.sun | 2.A6.B 2.B5.C Femi’s class. | someone who
4.son9.sun [ 3.D7.C 3.C 2. Jeremiah stands
5.son 10. 4.C said, ‘If you up to a bully would
son Quantitative tell anybody be correct. Ensure
Quantitative Reasoning what | did, | the story has details.
Mathematics | Reasoning 1.159 will hit you
1.A6.D 1.122.2 2.12 every day’. Mathematics
2.C7.B 3.304.2 3.1 3. Jeremiah 1) 8/9, %, 417,
3.A8.B 5.3 pushed Femi | 2)6/12, 3/10, 5/14
4.A9.B Social Studies into a wall. 116
5.B10. A Social and Science 4. Femi 3) 7/10, 4/16, 3/14,
Studies Review finally told a 212
Social 1. Accept 1. Accept teacher 4)3/2, %, %, Vs
Studies reasonable reasonable because he 5)9/8, %, 7/9, 10/15
1.A responses: A | responses: was tired of 6) 10/7, 7/13, 5/11,
2.A growing Corruption being 2/7
3.A population causes bullied OR he | 7)4/11, 2/7, 2/9,
needs more unemployment | wanted 213
jobs/ needs by wasting things to 8) 7/9, Y4, 8/24, 5/17
more money that stop. 9) 9/4, 6/8, %, 4/18
resources. could be used 5. Any 10) 67/2, 23/2, 22/9,
2. to offer job reasonable 5/7
Unemployme | opportunities/ summary is
nt hurts help education. | correct. For Science
safety 2. A truck has example: 1. Plants don’t grow
because greater mass First, in a dark room
some people | than a table. Femi was a because they need
use crime 3. Gravity quiet boy. sunlight for
to make makes life Next, photosynthesis/ to
money when possible/ Jeremiah make energy.
they are sustains life on bullied Femi 2. Accept
unemployed. Earth. but said reasonable
3. Accept not to tell responses: | used a
reasonable anyone. Last, | pencil/ clothes/ tyres/
responses: Femi finally vegetables today.
Countries tells a 3. Accept
want low teacher who reasonable
rates of tells him to responses: Plants
unemployme always tell an | cause rainfall and
nt because adult as soon | help soil

people will be
richer and the
country will
be safer.
NG_

as possible.

Mathematics
1.3528
2.945
3.968
4.1 564
5.5146
6. 1656
7.1092
8.2 376
9.3450
10.4 410

Science
1.B

2.D
3.A

fertility, which makes
growing more plants
easier.



http://africanstorybook.org/reader.php?id=8831&d=0&a=1
http://africanstorybook.org/reader.php?id=22034&d=0&a=1
http://africanstorybook.org/reader.php?id=19876&d=0&a=1

